
  42  

  9
    4

  0.2 A

  2
7 

 

  55  

  525  

  4
6,

03
  

  420  

  4x 3,20    3x 2,50  
  48  

  4x 105 ±0,10  

0.2 A

0.2 A

0.2 A

A

Pour les cotes manquantes, se référer au fichier .step
For missing measurments, refer to .step file

1

D C B A

CD AB

2

5

4

3

6

5

2

1

3

4

6

Toutes le cotes sont en millimetres
All dimensions are in millimeters

Les cotes sont à contrôler après traitement
Dimenseions must be checked after treatment

Tolérances générales
Genral tolerances

ISO 2768 mK

Famille Désignation Indice

Traitement / treatment :

Matière / material :

Masse / weight (g) : Date : Echelle / scale : Format : Page :
IND. Description de la modification / description of modification Date

Dessiné / drawn :

Visa / stamp :

1TB Arrière poignée porte IDX420 01

Black matte grained paint RAL 9005 FST
Matériau <non spécifié>

07/01/2021 1:5 A4 1/1
Dessiné / drawn Visa / stamp

First series 09/07/2021

12.30

01 N. BOYARD M. VIRY

  2
8 

 

  2
7 

 

  2
2 

 

0.2 A

0.2 A

A

  M4  

  4,30  

  2    R8  
  34,40  

  35  

  70  

0.2 A

0.3 B

0.3 B

0.3 B

B

  2x 9  

  1
6 

 

  25  

Pour les cotes manquantes, se référer au fichier .step
For missing measurments, refer to .step file

1

D C B A

CD AB

2

5

4

3

6

5

2

1

3

4

6

Toutes le cotes sont en millimetres
All dimensions are in millimeters

Les cotes sont à contrôler après traitement
Dimenseions must be checked after treatment

Tolérances générales
Genral tolerances

ISO 2768 mK

Famille Désignation Indice

Traitement / treatment :

Matière / material :

Masse / weight (g) : Date : Echelle / scale : Format : Page :
IND. Description de la modification / description of modification Date

Dessiné / drawn :

Visa / stamp :

1TB Bride Rotule IDX420 01

Black matte grained paint RAL 9005 FST
1.0037 (S235JR)

19/01/2021 1:1 A4 1/1
Dessiné / drawn Visa / stamp

First series 08/07/2021

48.12

01 N. BOYARD M. VIRY

 650 

 7
70

 

 3x R5 

 R90 
 R30 

 5
30

 

 410 
 120 

 1
20

 

 20 

 4
0 

 554 

 1
50

 

 2x 250 

 2
x 

28
0 

 2
x 

28
4 

 1
42

 

9x Goujon à sertir affleurant M5 L15
9x Self clinching fluchhead stud M5 L15
(par exemple / for example
ref PEM: FH-M5-15ZI

 2 

 15 

Epargner les goujons lors de la peinture
Spare the studs from painting

1

H G

6

BCDEF A

2

5

4

3 3

5

2

4

6

1

DFH ACEG B

08/07/2021First series
Visa / stampDessiné / drawn

1/2A31:515/12/2020
1.0044 (S275JR)

White matte grained paint RAL 9003 FST

01Cache latéral droite IDX4201TB

Visa / stamp :

Dessiné / drawn :

DateDescription de la modification / description of modificationIND.
Page :Format :Echelle / scale :Date :Masse / weight (g) :

Matière / material :

Traitement / treatment :

IndiceDésignationFamille

ISO 2768 mK

Tolérances générales
Genral tolerances

Les cotes sont à contrôler après traitement
Dimenseions must be checked after treatment

Toutes le cotes sont en millimetres
All dimensions are in millimeters

4420.97

01 M. VIRYN. BOYARD

 650 

 7
70

 

 3x R5 

 R30 
 R90 

 4
0 

 20 

 1
20

 
 5

30
 

 554 

 1
50

 

 410 
 120 

 2
x 

28
4 

 1
42

 
 2x 250 

 2
x 

28
0 

9x Goujon à sertir affleurant M5 L15
9x Self clinching fluchhead stud M5 L15
(par exemple / for example
ref PEM: FH-M5-15ZI

 2 

 15 

Epargner les goujons lors de la peinture
Spare threads from painting

Pour les cotes manquantes, se référer au fichier .step
For missing measurments, refer to .step file

1

H G

6

BCDEF A

2

5

4

3 3

5

2

4

6

1

DFH ACEG B

08/07/2021First series
Visa / stampDessiné / drawn

1/2A31:515/12/2020
1.0044 (S275JR)

White matte grained paint RAL 9003 FST

01Cache latéral gauche IDX4201TB

Visa / stamp :

Dessiné / drawn :

DateDescription de la modification / description of modificationIND.
Page :Format :Echelle / scale :Date :Masse / weight (g) :

Matière / material :

Traitement / treatment :

IndiceDésignationFamille

ISO 2768 mK

Tolérances générales
Genral tolerances

Les cotes sont à contrôler après traitement
Dimenseions must be checked after treatment

Toutes le cotes sont en millimetres
All dimensions are in millimeters

4420.97

01 M. VIRYN. BOYARD

 534 

 79 
 25 

 450 

 225 
 87 

 93 

0.2A

A

 52 

 140 

 2 

 39 

 14 
 200,07 

 534 

Pour les cotes manquantes, se référer au fichier .step
For missing measurments, refer to .step file

1

HG

6

B C D E FA

2

5

4

33

5

2

4

6

1

D F HA C E GB

08/07/2021 First series
Visa / stamp Dessiné / drawn

1/1 A3 1:4 15/12/2020
1.0037 (S235JR)

Black matte grained paint RAL 9005 FST

01 Cahce montant gauche IDX420 1TB

Visa / stamp :

Dessiné / drawn :

Date Description de la modification / description of modification IND.
Page : Format : Echelle / scale : Date : Masse / weight (g) :

Matière / material :

Traitement / treatment :

Indice Désignation Famille

ISO 2768 mK

Tolérances générales
Genral tolerances

Les cotes sont à contrôler après traitement
Dimenseions must be checked after treatment

Toutes le cotes sont en millimetres
All dimensions are in millimeters

1661.96

01M. VIRY N. BOYARD

 5
34

 

 79 

 25 

 4
50

 

 1
75

 

0.2 A

A

 5
2 

 140 

 2
  3
9 

 14 

 5
34

 

 200,07 

 2
45

 ±
0,

30
 

B

UP
  9

0°
  R

 0
.5

 
D

O
W

N
  9

0°
  R

 0
.5

 

UP
  9

0°
  R

 0
.5

 

A

 R9,15 

 3 

 20° 

 10,15 

DÉTAIL A
ECHELLE 1 : 2

 5
0 

 3
0 

 21,4 

 17,4 

 12,4 

 9,9 

 2x 3 

 9
,5

0 
 1

0 

DÉTAIL B
ECHELLE 2 : 5

Pour les cotes manquantes, se référer au fichier .step
For missing measurments, refer to .step file

1

H G

6

BCDEF A

2

5

4

3 3

5

2

4

6

1

DFH ACEG B

08/07/2021First series
Visa / stampDessiné / drawn

1/1A31:415/12/2020
1.0037 (S235JR)

Black matte grained paint RAL 9005 FST

01Cache montant droite IDX4201TB

Visa / stamp :

Dessiné / drawn :

DateDescription de la modification / description of modificationIND.
Page :Format :Echelle / scale :Date :Masse / weight (g) :

Matière / material :

Traitement / treatment :

IndiceDésignationFamille

ISO 2768 mK

Tolérances générales
Genral tolerances

Les cotes sont à contrôler après traitement
Dimenseions must be checked after treatment

Toutes le cotes sont en millimetres
All dimensions are in millimeters

1644.51

01 M. VIRYN. BOYARD

  1
73

,3
6 

 

  920  

UP  90°  R 1 

  1
  

  86  

  8
9 

 

1

D C B A

CD AB

2

5

4

3

6

5

2

1

3

4

6

Toutes le cotes sont en millimetres
All dimensions are in millimeters

Les cotes sont à contrôler après traitement
Dimenseions must be checked after treatment

Tolérances générales
Genral tolerances

ISO 2768 mK

Famille Désignation Indice

Traitement / treatment :

Matière / material :

Masse / weight (g) : Date : Echelle / scale : Format : Page :
IND. Description de la modification / description of modification Date

Dessiné / drawn :

Visa / stamp :

1TB Cache rack élec IDX420 01

Black matte grained paint RAL 9005 FST
1.0037 (S235JR)

23/07/2021 1:10 A4 1/1
Dessiné / drawn Visa / stamp

First series 23/07/2021

1089.15

01 N. BOYARD M. VIRY

 1
07

 

 1
 

 R intérieur 90 

 1
5 

 567 

 1
07

 

 3
x 

8 

Ce rayon peut être réalisée en
roulage ou en croquage
this roundness can be realized in
rolled or crunched sheet metal

 640 

 7
26

,1
6 

 560 

 4x 140 

Tole à plat / sheet unfolded

0.5 A

A

11x goujons à sertir affleurant M3 L8
11x Self clinching Threaded Flushhead Stud M3 L8
par exemple / fir exemple Ref PEM : FH-M3-8ZI

Epargner les goujons lors de la peinture
Spare threads from painting

Pour les cotes manquantes, se référer au fichier .step
For missing measurments, refer to .step file

Tole pliée / sheet folded

1

H G

6

BCDEF A

2

5

4

3 3

5

2

4

6

1

DFH ACEG B

08/07/2021First series
Visa / stampDessiné / drawn

1/1A31:522/10/2020
1.0037 (S235JR)

Black matte grained paint RAL 9005 FST

01Casquette IDX4201TB

Visa / stamp :

Dessiné / drawn :

DateDescription de la modification / description of modificationIND.
Page :Format :Echelle / scale :Date :Masse / weight (g) :

Matière / material :

Traitement / treatment :

IndiceDésignationFamille

ISO 2768 mK

Tolérances générales
Genral tolerances

Les cotes sont à contrôler après traitement
Dimenseions must be checked after treatment

Toutes le cotes sont en millimetres
All dimensions are in millimeters

3629.59

01 M. VIRYN. BOYARD

  55  

  2
3,

71
  

DOWN  90°  R 2 

  2  

  11  

  1
6 

 

1

D C B A

CD AB

2

5

4

3

6

5

2

1

3

4

6

Toutes le cotes sont en millimetres
All dimensions are in millimeters

Les cotes sont à contrôler après traitement
Dimenseions must be checked after treatment

Tolérances générales
Genral tolerances

ISO 2768 mK

Famille Désignation Indice

Traitement / treatment :

Matière / material :

Masse / weight (g) : Date : Echelle / scale : Format : Page :
IND. Description de la modification / description of modification Date

Dessiné / drawn :

Visa / stamp :

1TB Equerre fixation brides courroie porte outil IDX420 01

Black matte grained paint RAL 9005 FST
1.0037 (S235JR)

08/07/2021 1:1 A4 1/1
Dessiné / drawn Visa / stamp

First series 08/07/2021

17.19

01 M. VIRY N. BOYARD

  55  

  4
3,

71
  

DOWN  90°  R 2 

  2  

  11  

  3
6 

 

1

D C B A

CD AB

2

5

4

3

6

5

2

1

3

4

6

Toutes le cotes sont en millimetres
All dimensions are in millimeters

Les cotes sont à contrôler après traitement
Dimenseions must be checked after treatment

Tolérances générales
Genral tolerances

ISO 2768 mK

Famille Désignation Indice

Traitement / treatment :

Matière / material :

Masse / weight (g) : Date : Echelle / scale : Format : Page :
IND. Description de la modification / description of modification Date

Dessiné / drawn :

Visa / stamp :

1TB Equerre fixation brides courroie porte outil IDX420 01

Black matte grained paint RAL 9005 FST
1.0037 (S235JR)

08/07/2021 1:1 A4 1/1
Dessiné / drawn Visa / stamp

First series 08/07/2021

34.35

01 M. VIRY N. BOYARD

  59,09  

  1
1,

70
  

  2x M3  

  1
,5

0 
 

1

D C B A

CD AB

2

5

4

3

6

5

2

1

3

4

6

Toutes le cotes sont en millimetres
All dimensions are in millimeters

Les cotes sont à contrôler après traitement
Dimenseions must be checked after treatment

Tolérances générales
Genral tolerances

ISO 2768 mK

Famille Désignation Indice

Traitement / treatment :

Matière / material :

Masse / weight (g) : Date : Echelle / scale : Format : Page :
IND. Description de la modification / description of modification Date

Dessiné / drawn :

Visa / stamp :

1TB Palette zprobe IDX420 01

Black matte grained paint RAL 9005 FST
1.0037 (S235JR)

23/07/2021 1:1 A4 1/1
Dessiné / drawn Visa / stamp

First series 23/07/2021

5.82

01 M. VIRY N. BOYARD

  111,40  

  6
0 

 

  2x M2,50  

A

A

  2  

  
5,

40
  

  
5,

40
  

  2  

  2  

  90°  

  90°  

COUPE A-A

1

D C B A

CD AB

2

5

4

3

6

5

2

1

3

4

6

Toutes le cotes sont en millimetres
All dimensions are in millimeters

Les cotes sont à contrôler après traitement
Dimenseions must be checked after treatment

Tolérances générales
Genral tolerances

ISO 2768 mK

Famille Désignation Indice

Traitement / treatment :

Matière / material :

Masse / weight (g) : Date : Echelle / scale : Format : Page :
IND. Description de la modification / description of modification Date

Dessiné / drawn :

Visa / stamp :

1TB Plaque support moteur IDX420 01

Black matte grained paint RAL 9005 FST
1.0037 (S235JR)

07/01/2021 1:1 A4 1/1
Dessiné / drawn Visa / stamp

First series 09/07/2021

80.00

01 N. BOYARD M. VIRY

  2x M4    2  

1

D C B A

CD AB

2

5

4

3

6

5

2

1

3

4

6

Toutes le cotes sont en millimetres
All dimensions are in millimeters

Les cotes sont à contrôler après traitement
Dimenseions must be checked after treatment

Tolérances générales
Genral tolerances

ISO 2768 mK

Famille Désignation Indice

Traitement / treatment :

Matière / material :

Masse / weight (g) : Date : Echelle / scale : Format : Page :
IND. Description de la modification / description of modification Date

Dessiné / drawn :

Visa / stamp :

1TB Platine porte outil IDX420 01

Black matte grained paint RAL 9005 FST
Acier non allié

08/07/2021 1:1 A4 1/1
Dessiné / drawn Visa / stamp

First series 08/07/2021

78.70

01 M. VIRY N. BOYARD

 2
70

 
 638 

 2
60

 

 7  305  305 

A

0.3 A

0.3 A 0.3 A

A

 1
 

Echelle 1:5

 R3,50 

 R2,20 

 7 

DÉTAIL A
ECHELLE 1 : 1

1

H G

6

BCDEF A

2

5

4

3 3

5

2

4

6

1

DFH ACEG B

09/07/2021First series
Visa / stampDessiné / drawn

1/1A31:207/01/2021
1.0037 (S235JR)

Black matte grained paint RAL 9005 FST

01Cache Rack Elec IDX4201TB

Visa / stamp :

Dessiné / drawn :

DateDescription de la modification / description of modificationIND.
Page :Format :Echelle / scale :Date :Masse / weight (g) :

Matière / material :

Traitement / treatment :

IndiceDésignationFamille

ISO 2768 mK

Tolérances générales
Genral tolerances

Les cotes sont à contrôler après traitement
Dimenseions must be checked after treatment

Toutes le cotes sont en millimetres
All dimensions are in millimeters

1339.66

01 M. VIRYN. BOYARD

  2x R1,50  

  1
9 

 

A

5x colonettes à sertir borgnes taraudées M3 L6
5x self-clinching blind standoffs M3 L6
par exemple/ for example ref PEM : BSO-M3-6ZI

  2
9 

 

Echelle 1:1

  529  

  6
2,

28
  

  2x R3  

  2x R9  

  420  

  5x 4,22  

  105 ±0,10  

0.5 A

A

DÉTAIL A
ECHELLE 1 : 1

Hardware shoud be painted - Spare threading
Fourniture / insert à peindre - epargnez filetage /taraudage

Echelle 1:1

1

H G

6

BCDEF A

2

5

4

3 3

5

2

4

6

1

DFH ACEG B

09/07/2021First series
Visa / stampDessiné / drawn

1/1A31:507/01/2021
Steel

Black matte grained paint RAL 9005 FST

01Poignée porte IDX4201TB

Visa / stamp :

Dessiné / drawn :

DateDescription de la modification / description of modificationIND.
Page :Format :Echelle / scale :Date :Masse / weight (g) :

Matière / material :

Traitement / treatment :

IndiceDésignationFamille

ISO 2768 mK

Tolérances générales
Genral tolerances

Les cotes sont à contrôler après traitement
Dimenseions must be checked after treatment

Toutes le cotes sont en millimetres
All dimensions are in millimeters

258.53

01 M. VIRYN. BOYARD

  70,75  

  2
8,

20
  

  48  

  5
8,

40
  

  75,12  

  3xM3x0.5  

  97,27  

  1
71

,6
6 

 

D
O

W
N

  9
0°

  R
 3

 

UP  90°  R 3 

DOWN  90°  R 3 

  3  

    

  
P

40
  

0.5 P A

A

1

D C B A

CD AB

2

5

4

3

6

5

2

1

3

4

6

Toutes le cotes sont en millimetres
All dimensions are in millimeters

Les cotes sont à contrôler après traitement
Dimenseions must be checked after treatment

Tolérances générales
Genral tolerances

ISO 2768 mK

Famille Désignation Indice

Traitement / treatment :

Matière / material :

Masse / weight (g) : Date : Echelle / scale : Format : Page :
IND. Description de la modification / description of modification Date

Dessiné / drawn :

Visa / stamp :

1TB Support moteur X droit IDX420 01

Black matte grained paint RAL 9005 FST
1.0037 (S235JR)

08/07/2021 1:2 A4 1/1
Dessiné / drawn Visa / stamp

First series 08/07/2021

117.73

01 M. VIRY N. BOYARD

  2
8,

20
  

  70,75  

A

A

  75,12  

  5
8,

40
  

  48  

  3x M3x0,5  

  97,27  

  1
71

,6
6 

 

D
O

W
N

  9
0°

  R
 3

 DOWN  90°  R 3 

UP  90°  R 3 

  3  

  
P

40
  

    

COUPE A-A

0.5 P A

A

1

D C B A

CD AB

2

5

4

3

6

5

2

1

3

4

6

Toutes le cotes sont en millimetres
All dimensions are in millimeters

Les cotes sont à contrôler après traitement
Dimenseions must be checked after treatment

Tolérances générales
Genral tolerances

ISO 2768 mK

Famille Désignation Indice

Traitement / treatment :

Matière / material :

Masse / weight (g) : Date : Echelle / scale : Format : Page :
IND. Description de la modification / description of modification Date

Dessiné / drawn :

Visa / stamp :

1TB Support moteur X gauche IDX420 01

Black matte grained paint RAL 9005 FST
1.0037 (S235JR)

08/07/2021 1:2 A4 1/1
Dessiné / drawn Visa / stamp

First series 08/07/2021

117.73

01 M. VIRY N. BOYARD

  33  

  80,12  
  2

2,
90

  

  1
26

,1
6 

 

  35,25  

UP  90°  R 3 

DOWN  90°  R 3 

  3  

1

D C B A

CD AB

2

5

4

3

6

5

2

1

3

4

6

Toutes le cotes sont en millimetres
All dimensions are in millimeters

Les cotes sont à contrôler après traitement
Dimenseions must be checked after treatment

Tolérances générales
Genral tolerances

ISO 2768 mK

Famille Désignation Indice

Traitement / treatment :

Matière / material :

Masse / weight (g) : Date : Echelle / scale : Format : Page :
IND. Description de la modification / description of modification Date

Dessiné / drawn :

Visa / stamp :

1TB Support Roulement Axe X droit IDX420 01

Black matte grained paint RAL 9005 FST
1.0037 (S235JR)

08/07/2021 1:2 A4 1/1
Dessiné / drawn Visa / stamp

First series 08/07/2021

51.17

01 M. VIRY N. BOYARD

IDEX420

	√ Production rate increased by a factor of 2 

Two independant extrusion tools to print twice as many 

parts in the same amount of time. 

	√ Active room heating up to 60°C 

To ensure the printing of technical materials

	√ A substancial volume of work 

A 420 mm x 320 mm x 400 mm printing surface

The professional 3D printer optimised for production!

From 6990€ exc. VAT

DATA SHEET

Size of the machine:

Weight:

Noise level: :

Accessibility and openings:

Safety: 

Connectivity:

Control screen: 

Monitoring:  

Printing surface dimensions:

Printing surface:

Intelligent tool:

Nozzle diameter (mm) :

Layer thickness:

Robot accuracy: 

Calibration:

Extrusion:

Temperatures:

Characterised polymers to date:

Filtration:

Software:

Supported OS:

Height: 810 mm

Width: 920 mm 

Depth: 700 mm

90kg

54 dB SPL Maximum

Front door & spools drawer

Directive machine 2006/42/CE

Enclosure locked by key

USB, ETHERNET

Touch & capacitive 7’’, resolution 1024*600 px

Integrated camera remotely accessible

Height: 400 mm

Width: 420 mm

Depth: 320 mm 

Borosilicate glass removable bed (magnetic fastening)

Calibration memory, interchangeable by magnetic fastening

0,4 / 0,6 / 0,8 

From 0,1 mm to 0,6 mm (depending on the used nozzles)

XY axis: 5µm

Z axis: 1,25µm

Automatic, assisted

2 independant extruders, bi-material / bi-colour

-Extrusion: up to 300°C 

-Heat bed: up to 120 °C: 

-Active room heating: up to 60°C

PLA, ABS, PETG, PC, PC-ABS (ul94-V0), ASA-X, TPU, BVOH, PVA, 

HIPS, PA6-66, ACETATE

Standard HEPA filtration & active carbon

or industrial filtration system (optional)

Stratocontrol3D developped by eMotion Tech accessible 

on any device  with a web browser + Cura slicer

Mac OS, Windows, Linux, Android, IOS and any OS with a 

web browser

General features

Capacities 

Software and interfaces 

+33 (0)5 82 95 26 62



  2
2,

90
  

  33  

  80,12  

  1
26

,1
6 

 

  35,25    3  

1

D C B A

CD AB

2

5

4

3

6

5

2

1

3

4

6

Toutes le cotes sont en millimetres
All dimensions are in millimeters

Les cotes sont à contrôler après traitement
Dimenseions must be checked after treatment

Tolérances générales
Genral tolerances

ISO 2768 mK

Famille Désignation Indice

Traitement / treatment :

Matière / material :

Masse / weight (g) : Date : Echelle / scale : Format : Page :
IND. Description de la modification / description of modification Date

Dessiné / drawn :

Visa / stamp :

1TB Support Roulement Axe X gauche IDX420 01

Black matte grained paint RAL 9005 FST
1.0037 (S235JR)

08/07/2021 1:2 A4 1/1
Dessiné / drawn Visa / stamp

First series 08/07/2021

51.17

01 M. VIRY N. BOYARD

  1
04

  

  R5    5x R1  

1

2

4xgoujons à sertir affleurant M4 L35
4x Self clinching Theaded Stud M4 L35
exemple / example ref PEM : FH-M4-35ZI

4x entretoises à sertir affleurant M3 L6
4x Self clinching flushhead blind Standoff M6 L6
par exemple / for example
ref PEM : BSO-M3-6ZI

Welding cords of 2mm thickness
all along these 5 edges
inside the part to close the folds

Soudure tenon mortaise de 10 mm de long pour chacune des 4 mortaises
Surface plane nécessaire sous le tiroir après soudure (meuler si nécessaire)
mortise and tenon welding of 10 mm length on each of the 4 mortises
flat surface underneath the drawer required after welding (grind if necessary)

  6
36

  

  6
16

,5
0 

+ -1 1 
 

  288  

  6
36

  

  4x R2,15    4x 90  

  50 ±0,20  

  5
0 

±0
,2

0 
 

  2
x 

56
,5

0 
 

  7
53

,2
  

  487,74  

  7
4 

 

  207,70  

  1  

  1
  

Pour les cotes manquantes, se référer au fichier .step
For missing measurments, refer to .step file

Pièce 2 / part 2

Pièce 1 / part 1

Epargner les goujons lors de la peinture
Spare threads from painting

1

H G

6

BCDEF A

2

5

4

3 3

5

2

4

6

1

DFH ACEG B

09/07/2021First series
Visa / stampDessiné / drawn

1/1A31:507/01/2021
Steel

Black matte grained paint RAL 9005 FST

01Tiroir bobine IDX4201TB

Visa / stamp :

Dessiné / drawn :

DateDescription de la modification / description of modificationIND.
Page :Format :Echelle / scale :Date :Masse / weight (g) :

Matière / material :

Traitement / treatment :

IndiceDésignationFamille

ISO 2768 mK

Tolérances générales
Genral tolerances

Les cotes sont à contrôler après traitement
Dimenseions must be checked after treatment

Toutes le cotes sont en millimetres
All dimensions are in millimeters

2557.72

01 M. VIRYN. BOYARD

  2x M2,50  

  2x M3x0.5  

  1
6,

41
  

  1
8,

53
  

  44,30 ±0,30    M4x0.7  

  49,82  

  8
5,

48
  

DOWN  90°  R 2 

DOWN  90°  R 2 DOWN  90°  R 2 

  2  

1

D C B A

CD AB

2

5

4

3

6

5

2

1

3

4

6

Toutes le cotes sont en millimetres
All dimensions are in millimeters

Les cotes sont à contrôler après traitement
Dimenseions must be checked after treatment

Tolérances générales
Genral tolerances

ISO 2768 mK

Famille Désignation Indice

Traitement / treatment :

Matière / material :

Masse / weight (g) : Date : Echelle / scale : Format : Page :
IND. Description de la modification / description of modification Date

Dessiné / drawn :

Visa / stamp :

1TB Tôle OSES IDX420 01

Black matte grained paint RAL 9005 FST
1.0037 (S235JR)

08/07/2021 1:2 A4 1/1
Dessiné / drawn Visa / stamp

First series 08/07/2021

45.02

01 M. VIRY N. BOYARD

  30  

  2
0 

 

  9x 4  

  12x 4  

  220    2
00

 +  0,
5

0
  

  3
9 

+  0,
5

0
  

  5
  

  570 ±0,50  

  635 ±1  

  160  

  1
79

,7
  

18x Insert hexagonal traversant affleurant M3
18x Blind Rivet Nut M3 FlushHead Hexagonal
(par exemple / for example
ref clufix: 01a030aho023z)
Spare threads from painting
Epargner les filets lors de la peinture

12x Goujon à sertir affleurant M4 L35
12x Self clinching Threaded flushhead Stud M4 L35
(par exemple / for example
ref PEM: FH-M4-35ZI)
Spare threads from painting
Epargner les filets lors de la peinture

0.5 A

0.5 A

A

4 weld cords inside the part
all along the edges
3 mm thicknes max Pour les cotes manquantes, se référer au fichier .step

For missing measurments, refer to .step file

1

H G

6

BCDEF A

2

5

4

3 3

5

2

4

6

1

DFH ACEG B

08/07/2021First series
Visa / stampDessiné / drawn

1/1A31:508/07/2021
1.0037 (S235JR)

White matte grained paint RAL 9003 FST

01Châssis bloc chauffe IDX4201TP

Visa / stamp :

Dessiné / drawn :

DateDescription de la modification / description of modificationIND.
Page :Format :Echelle / scale :Date :Masse / weight (g) :

Matière / material :

Traitement / treatment :

IndiceDésignationFamille

ISO 2768 mK

Tolérances générales
Genral tolerances

Les cotes sont à contrôler après traitement
Dimenseions must be checked after treatment

Toutes le cotes sont en millimetres
All dimensions are in millimeters

1250.98

01 M. VIRYN. BOYARD

soudure bouchon exterieur autorisé si meulage après soudure
plug welding allowed if grinding after welding

Souder chaque tenon des deux flans
Souder uniquement à l'intérieur de la pièce
Weld each tenon of the both sides
Weld only on the interior of the part

12x Goujon à sertir affleurant M5 L35
12x Self clinching Threaded flushhead Stud M5 L35
(par exemple / for example
ref PEM: FH-M5-35ZI)
Spare threads from painting
Epargner les filets lors de la peinture

18x Insert hexagonal traversant affleurant M5
18x Blind Rivet Nut M5 FlushHead Hexagonal
(par exemple / for example
ref clufix: 01a050aho035z)
Spare threads from painting
Epargner les filets lors de la peinture

  9
48

,7
8 

 

  900 ±1  

  12x 5  

  6
x 

56
 ±

0,
10

  

  560 ±0,50  

  4x 140 ±0,20  
  6x 19,50  

  2
  

  658  

  1
18

  

  6x 8    5x 5,50  

  1
18

 ±
1 

 
  6

58
 ±

1 
 

  900  

  2  

  9x R1  

Souder cette arête  avec 5 cordons de 80 mm, épaisseur 3 mm
Weld here 5 cords of 80 mm, 3 mm thicknes

  80  

5 cordons de soudure (en rouge)
5 welding cords (red lines)

Pour les cotes manquantes, se référer au fichier .step
For missing measurments, refer to .step file

tole 2 / sheet 2

tole 1 à plat / sheet 1 unfolded

tole 1 pliée / sheet 1 folded

1

H G

6

BCDEF A

2

5

4

3 3

5

2

4

6

1

DFH ACEG B

08/07/2021First series
Visa / stampDessiné / drawn

1/1A31:1022/10/2020
1.0037 (S235JR)

Black matte grained paint RAL 9005 FST

01Plafond IDX4201TP

Visa / stamp :

Dessiné / drawn :

DateDescription de la modification / description of modificationIND.
Page :Format :Echelle / scale :Date :Masse / weight (g) :

Matière / material :

Traitement / treatment :

IndiceDésignationFamille

ISO 2768 mK

Tolérances générales
Genral tolerances

Les cotes sont à contrôler après traitement
Dimenseions must be checked after treatment

Toutes le cotes sont en millimetres
All dimensions are in millimeters

13886.51

01 M. VIRYN. BOYARD

  580  

  8
5 

 

  M6    M6    12x M3    3x M3  

  2x M3  

  3
  

1

H G

6

BCDEF A

2

5

4

3 3

5

2

4

6

1

DFH ACEG B

09/07/2021First series
Visa / stampDessiné / drawn

1/1A31:507/01/2021
AISI 304

brushed (both sides)

01Platine chariot Z IDX4201TP

Visa / stamp :

Dessiné / drawn :

DateDescription de la modification / description of modificationIND.
Page :Format :Echelle / scale :Date :Masse / weight (g) :

Matière / material :

Traitement / treatment :

IndiceDésignationFamille

ISO 2768 mK

Tolérances générales
Genral tolerances

Les cotes sont à contrôler après traitement
Dimenseions must be checked after treatment

Toutes le cotes sont en millimetres
All dimensions are in millimeters

1130.45

01 M. VIRYN. BOYARD

  580  

  7
7 

 
  3

  

This side brushed

Logo engraved

1

H G

6

BCDEF A

2

5

4

3 3

5

2

4

6

1

DFH ACEG B

09/07/2021First series
Visa / stampDessiné / drawn

1/1A31:507/01/2021
AISI 304

brushed (one side as shown on drawing)

01Renfort chariot Z droite IDX4201TP

Visa / stamp :

Dessiné / drawn :

DateDescription de la modification / description of modificationIND.
Page :Format :Echelle / scale :Date :Masse / weight (g) :

Matière / material :

Traitement / treatment :

IndiceDésignationFamille

ISO 2768 mK

Tolérances générales
Genral tolerances

Les cotes sont à contrôler après traitement
Dimenseions must be checked after treatment

Toutes le cotes sont en millimetres
All dimensions are in millimeters

1062.67

01 M. VIRYN. BOYARD

  662  

  7
77

  

Ce rayon peut être réalisée en
roulage ou en croquage
this roundness can be realized in
rolled or crunched sheet metal

Ne pas souder sur cette face de la tole 1
Do not weld on this side of sheet 1

  140  

3 soudures en tenon mortaise
sourface plane après soudure (meuler si nécessaire)
3 mortise and tenon welding
finale surface must me flat (grind if necessary) 

4 soudures en tenon mortaise
sourface plane et sans trou après soudure (meuler si nécessaire)
4 mortise and tenon welding
finale surface must me flat and without holes (grind if necessary) 

  3x R2  

  60    60  

  8x 60  

souder la tole 3   avec la tole 1  , 2 cordons de 60 mm de long

et 2 mm d'épaisseur, soudure à l'intérieur (rainure utilisée pour fixation d'une glissière)

weld sheet 3   on sheet 1  with 2 weldind cord of 60 mm length

and 2 mm thickness inside the final part (exterior is used to handle a slider)

8 courdons de soudure supplémentaires
sur cette face entre tole 1 et tole 2
60 mm de long et 2 mm  d'épaisseur
Additional 8 weldind cords on this side of sheet 2
between sheet 1 and sheet 2
60 mm length and 2 mm thickness

3 soudures en tenon mortaise
sourface plane après soudure (meuler si nécessaire)
3 mortise and tenon welding
finale surface must me flat (grind if necessary) 

6 soudures en tenon mortaise
sourface plane après soudure (meuler si nécessaire)
6 mortise and tenon welding
finale surface must me flat (grind if necessary) 

12

3

2x inserts hexagonaux traversant M8 à tête affleurante
2x Blind Rivet Nut M8 FlushHead Hexagonal
ref clufix : 01a080aho030z

2x inserts hexagonaux traversant M3 à tête affleurante 
2x Blind Rivet Nut M3 FlushHead Hexagonal
ref clufix : 01A030AHO023Z

8x goujons à sertir affleurant M3 L8 
8x Self clinching Threaded Stud M3 L8
ref PEM : FH-M3-8ZI

Pour les cotes manquantes, se référer au fichier .step
For missing measurments, refer to .step file

Epargner les filets lors de la peinture
Spare threads from painting

1

H G

6

BCDEF A

2

5

4

3 3

5

2

4

6

1

DFH ACEG B

08/07/2021First series
Visa / stampDessiné / drawn

1/2A31:1007/01/2021
1.0037 (S235JR)

Black matte grained paint RAL 9005 FST

01Structure latérale gauche IDX4201TP

Visa / stamp :

Dessiné / drawn :

DateDescription de la modification / description of modificationIND.
Page :Format :Echelle / scale :Date :Masse / weight (g) :

Matière / material :

Traitement / treatment :

IndiceDésignationFamille

ISO 2768 mK

Tolérances générales
Genral tolerances

Les cotes sont à contrôler après traitement
Dimenseions must be checked after treatment

Toutes le cotes sont en millimetres
All dimensions are in millimeters

10716.03

01 M. VIRYN. BOYARD

  440  

  3
40

  

  498  

  1
58

  

  4x 135°  

  8x R1,50  

1 A

A

  6
  

2x ch.1 X 45° sur le tour

Pour les cotes manquantes, se référer au fichier .step
For missing measurments, refer to .step file

1

D C B A

CD AB

2

5

4

3

6

5

2

1

3

4

6

Toutes le cotes sont en millimetres
All dimensions are in millimeters

Les cotes sont à contrôler après traitement
Dimenseions must be checked after treatment

Tolérances générales
Genral tolerances

ISO 2768 mK

Famille Désignation Indice

Traitement / treatment :

Matière / material :

Masse / weight (g) : Date : Echelle / scale : Format : Page :
IND. Description de la modification / description of modification Date

Dessiné / drawn :

Visa / stamp :

1NC Surface impression 01

Verre

12/01/2021 1:5 A4 1/1
Dessiné / drawn Visa / stamp

2202.09

  R8  

  R4 H7    30  

  8  

1

D C B A

CD AB

2

5

4

3

6

5

2

1

3

4

6

Toutes le cotes sont en millimetres
All dimensions are in millimeters

Les cotes sont à contrôler après traitement
Dimenseions must be checked after treatment

Tolérances générales
Genral tolerances

ISO 2768 mK

Famille Désignation Indice

Traitement / treatment :

Matière / material :

Masse / weight (g) : Date : Echelle / scale : Format : Page :
IND. Description de la modification / description of modification Date

Dessiné / drawn :

Visa / stamp :

1US Calage Trapézoidal Outillage Dégauchissage IDX420 00

AB1 + QPQ
1.0503 (C45)

30/07/2021 2:1 A4 1/1
Dessiné / drawn Visa / stamp

17.64

  R5  

  3
  

A

A

  1
4,

4 
 

  5
,3

  

  2x M4  

  6
    7

,5
  

COUPE A-A

1

D C B A

CD AB

2

5

4

3

6

5

2

1

3

4

6

Toutes le cotes sont en millimetres
All dimensions are in millimeters

Les cotes sont à contrôler après traitement
Dimenseions must be checked after treatment

Tolérances générales
Genral tolerances

ISO 2768 mK

Famille Désignation Indice

Traitement / treatment :

Matière / material :

Masse / weight (g) : Date : Echelle / scale : Format : Page :
IND. Description de la modification / description of modification Date

Dessiné / drawn :

Visa / stamp :

1US Appui tiges Outillage Dégauchissage IDX420 00

AB1 + QPQ
1.0503 (C45)

30/07/2021 2:1 A4 1/1
Dessiné / drawn Visa / stamp

12.22

  R5  

  3
  

A

A

  1
4,

4 
 

  5
,3

  

  2x M4  

  6
    7

,5
  

COUPE A-A

1

D C B A

CD AB

2

5

4

3

6

5

2

1

3

4

6

Toutes le cotes sont en millimetres
All dimensions are in millimeters

Les cotes sont à contrôler après traitement
Dimenseions must be checked after treatment

Tolérances générales
Genral tolerances

ISO 2768 mK

Famille Désignation Indice

Traitement / treatment :

Matière / material :

Masse / weight (g) : Date : Echelle / scale : Format : Page :
IND. Description de la modification / description of modification Date

Dessiné / drawn :

Visa / stamp :

1US Appui tiges Outillage Dégauchissage IDX420 00

AB1 + QPQ
1.0503 (C45)

30/07/2021 2:1 A4 1/1
Dessiné / drawn Visa / stamp

12.22

  4
80

  

  4
60

  

AA

Surfaces must be
vertically aligned

a3

a3a3

a3

a3

a3

  1
0 

 

Surfaces must be
vertically aligned

0.5° A

A

  4
43

,8
  

  466  

2x Plaque identique pour le haut et le bas de la pièce
Use 2 same both sheets for upper and lower side of the part

3 cylindre aluminium Øext 100 mm ep.2.5 mm longueur 460 mm
3 cylinders aluminum Øext 100 mm 2.5mm thickness 460 mm length

  5x 7  

  3x 100  
  3x 95  

COUPE A-A

Pour les cotes manquantes, se référer au fichier .step
For missing measurments, refer to .step file

Assemblage des 5 pièces par soudure
Assembly of the 5 parts by welding

1

H G

6

BCDEF A

2

5

4

3 3

5

2

4

6

1

DFH ACEG B

Visa / stampDessiné / drawn

1/1A31:1030/07/2021
6061-O (SS)

00Support Outillage Dégauchissage IDX4201TP

Visa / stamp :

Dessiné / drawn :

DateDescription de la modification / description of modificationIND.
Page :Format :Echelle / scale :Date :Masse / weight (g) :

Matière / material :

Traitement / treatment :

IndiceDésignationFamille

ISO 2768 mK

Tolérances générales
Genral tolerances

Les cotes sont à contrôler après traitement
Dimenseions must be checked after treatment

Toutes le cotes sont en millimetres
All dimensions are in millimeters

11641.50

APPLICATIONS KEY POINTS

EQUIPMENTS & OPTIONAL SERVICES

Specific printing needs

Two tools for a one and only part

Variable layer thicknesses

A production rate increased by a factor of 2

The two independant extrusion tools can also 

print simultaneously mirored parts.

For your complex parts, the management of 

each material being separate, there is no risk of 

contamination or mixing of one material with 

the other. Strateo3D IDEX420 allows a clean 

and precise double extrusion.

Strateo3D IDEX420 can print parts with layer 

thickness between 0.1 to 0.6 mm.

Chose between precision and speed according to 

your needs.

For mass production requirements, Strateo3D 

IDEX420 is equipped with two independant 

extrusion tools that can run simultaneously, 

doubling the print rates. Its 420 x 320 mm 

removable bed allows for ininterrupted 

production.

Removable bed

420x320x400 mm 

Microparticles filtration 

device

Camera, remote 

monitoring via 

Stratocontrol3D 

interface

Control touch screen 

equipped with 

Stratocontrol3D 

interface

Two independant 

intelligent and removable 

extrusion tools 

Spools drawer up to 2 

material spools of 1kg 

each & end of filament 

detection

Resuming of a print job 

in case of untimely stop

Active room heating

up to 60°C

	√ Training in the use of Strateo3D IDEX420

	√ Annual maintenance package 

	√ Extended warranty

	√ Industrial filtration system removing up to 99,997 % of 

0,3 microns microparticles


